

Year 4 Timetable 18th May 2020

Reading Mission: 30 minutes	<p>Children to read or support them to read the following text.</p> <p><u>An adapted extract from The Jungle Book, book 1 – Mowgli’s Brothers</u></p> <p>Father Wolf listened, and below in the valley that ran down to a little river he heard the dry, angry, snarly, singsong whine of a tiger who has caught nothing and does not care if all the jungle knows it.</p> <p>‘The fool!’ said Father Wolf. ‘To begin a night’s work with that noise! Does he think that our deer are like his fat Waingunga river bullocks?’</p> <p>‘H’sh. It is neither bullock nor deer he hunts to-night,’ said Mother Wolf. ‘It is Man.’ The whine had changed to a sort of humming purr that seemed to come from every quarter of the compass. It was the noise that confuses woodcutters and people sleeping in the open, and makes them run sometimes into the very mouth of the tiger.</p> <p>‘Man!’ said Father Wolf, showing all his white teeth. ‘Faugh! Are there not enough beetles and frogs in the ponds that he must eat Man, and on our ground too!’ The Law of the Jungle, which never orders anything without a reason, forbids every beast to eat Man, except when he is killing to show his children how to kill, and then he must hunt outside the hunting grounds of his pack or tribe. The real reason for this is that man-killing means, sooner or later, the arrival of white men on elephants, with guns, and hundreds of brown men with gongs and rockets and torches. Then everybody in the jungle suffers. The reason the beasts give among themselves is that Man is the weakest and most defenseless of all living things, and it is unsportsmanlike to touch him. They say too—and it is true—that man-eaters become sick, and lose their teeth. The purr grew louder, and ended in the full-throated ‘Aaarh!’ of the tiger’s charge. Then there was a howl—an untigerish howl—from Shere Khan.</p> <p>‘He has missed,’ said Mother Wolf. ‘What is it?’ Father Wolf ran out a few paces and heard Shere Khan muttering and mumbling savagely as he tumbled about in the bushes.</p> <p>‘The fool has had no more sense than to jump at a woodcutter’s campfire, and has burned his feet,’ said Father Wolf with a grunt.</p> <p>‘Something is coming uphill,’ said Mother Wolf, twitching one ear. ‘Get ready.’</p> <p>After they can answer these questions. These can be verbal answers or they could be written down or typed. Children could even draw their responses. Suggested answers are in italics.</p> <p>Who is the first character to speak?</p> <p>Why does Mother Wolf tell Father Wolf to “h’sh”?</p> <p>Does Father Wolf like the tiger Shere Khan? How do you know?</p> <p>What does Father Wolf suggest Shere Khan should be eating instead of Man?</p> <p>What is the only time the Law of the Jungle says animals can kill men??</p>
---------------------------------------	---

	<p>What happens if an animal does kill men?</p> <p>"Then everybody in the jungle suffers." Why would the animals in the jungle be suffering?</p> <p>Is Shere Khan a good hunter or not? Explain how you know.</p> <p>Predict what you think will happen next in the story.</p> <p>Who is the first character to speak? <i>Father Wolf.</i></p> <p>Why does Mother Wolf tell Father Wolf to "h'sh"? <i>So that they can hear what is happening below.</i></p> <p>Does Father Wolf like the tiger Shere Khan? How do you know? <i>No. He speaks about him angrily and insults him a lot.</i></p> <p>What does Father Wolf suggest Shere Khan should be eating instead of Man? <i>Beetles and frogs.</i></p> <p>What is the only time the Law of the Jungle says animals can kill men? <i>To show their children how to kill.</i></p> <p>What happens if an animal does kill men? <i>Other men come with guns and rockets.</i></p> <p>"Then everybody in the jungle suffers." Why would the animals in the jungle be suffering? <i>Because the men with guns have come to kill them/punish them.</i></p> <p>Is Shere Khan a good hunter or not? Explain how you know. <i>He is not. He makes lots of noise and then misses his jump, landing in the fire.</i></p> <p>Predict what you think will happen next in the story. <i>Your child's answer.</i></p>
Writing Mission: 30 minutes	<p>The rainforest is where we have found a huge number of natural medicines and all manner of unique plants. There are probably still lots left to be discovered as well!</p> <p>This week you are going to create your own medicine recipe from rainforest ingredients. Because we are being imaginative, this medicine could do anything! Think of it like a magic potion. In George's Marvellous Medicine, his concoction from household items makes things fizz and pop and grow very large, or shrink into nothingness. What could amazing ingredients from the rainforest do?</p> <p>Today we need to do the following:</p> <ol style="list-style-type: none"> 1) Decide what our medicine will do when it has been made 2) Decide what side-effects our medicine might have if you take too much... 3) Either research unique rainforest plants (such as rubber trees, water lilies larger than a grown man, the rafflesia that smells like dead things to attract beetles) or make up your own interesting plants that you could use parts of for ingredients.
Maths Mission: 30 minutes	<p>We have decided it would be a good idea to explicitly set some times tables practice every day to help keep us sharp! You could have your own mini-test at the end of week, and send me the results if you like! As a reminder, there are plenty of online games to help practise these as well (e.g. https://www.topmarks.co.uk/mathsgames/hit-the-button).</p>

Today's times table is the **5 times table**.

Last week we revised addition and subtraction – now we will revise multiplication! Multiplying is finding a number of sets or groups of another number, e.g. 4 groups of 7 is 4×7 . So how would you find 4 groups of 27?

4 groups of 7 = 28

4 groups of 20 = 80.

4 groups of 27 = 108.

There are some BBC Bitesize lessons here:

<https://www.bbc.co.uk/bitesize/articles/zfgm6v4>

Alternatively, you could complete this activity:

$$\begin{array}{r} 1. \quad 24 \\ \times \quad 4 \\ \hline \end{array}$$

$$\begin{array}{r} 2. \quad 22 \\ \times \quad 5 \\ \hline \end{array}$$

$$\begin{array}{r} 3. \quad 18 \\ \times \quad 5 \\ \hline \end{array}$$

$$\begin{array}{r} 4. \quad 26 \\ \times \quad 3 \\ \hline \end{array}$$

$$\begin{array}{r} 5. \quad 12 \\ \times \quad 5 \\ \hline \end{array}$$

$$\begin{array}{r} 6. \quad 48 \\ \times \quad 2 \\ \hline \end{array}$$

$$\begin{array}{r} 7. \quad 41 \\ \times \quad 9 \\ \hline \end{array}$$

$$\begin{array}{r} 8. \quad 31 \\ \times \quad 7 \\ \hline \end{array}$$

$$\begin{array}{r} 9. \quad 44 \\ \times \quad 7 \\ \hline \end{array}$$

$$\begin{array}{r} 10. \quad 32 \\ \times \quad 7 \\ \hline \end{array}$$

$$\begin{array}{r} 11. \quad 62 \\ \times \quad 3 \\ \hline \end{array}$$

$$\begin{array}{r} 12. \quad 66 \\ \times \quad 4 \\ \hline \end{array}$$

$$\begin{array}{r} 13. \quad 82 \\ \times \quad 4 \\ \hline \end{array}$$

$$\begin{array}{r} 14. \quad 87 \\ \times \quad 8 \\ \hline \end{array}$$

$$\begin{array}{r} 15. \quad 94 \\ \times \quad 8 \\ \hline \end{array}$$

$$\begin{array}{r} 16. \quad 53 \\ \times \quad 8 \\ \hline \end{array}$$

$$\begin{array}{r} 17. \quad 85 \\ \times \quad 4 \\ \hline \end{array}$$

$$\begin{array}{r} 18. \quad 75 \\ \times \quad 3 \\ \hline \end{array}$$

$$\begin{array}{r} 19. \quad 68 \\ \times \quad 6 \\ \hline \end{array}$$

$$\begin{array}{r} 20. \quad 78 \\ \times \quad 7 \\ \hline \end{array}$$

Answers:

$$\begin{array}{r} 1. \quad 24 \\ \times \quad 4 \\ \hline 96 \end{array}$$

$$\begin{array}{r} 2. \quad 22 \\ \times \quad 5 \\ \hline 110 \end{array}$$

$$\begin{array}{r} 3. \quad 18 \\ \times \quad 5 \\ \hline 90 \end{array}$$

$$\begin{array}{r} 4. \quad 26 \\ \times \quad 3 \\ \hline 78 \end{array}$$

$$\begin{array}{r} 5. \quad 12 \\ \times \quad 5 \\ \hline 60 \end{array}$$

$$\begin{array}{r} 6. \quad 48 \\ \times \quad 2 \\ \hline 96 \end{array}$$

$$\begin{array}{r} 7. \quad 41 \\ \times \quad 9 \\ \hline 369 \end{array}$$

$$\begin{array}{r} 8. \quad 31 \\ \times \quad 7 \\ \hline 217 \end{array}$$

$$\begin{array}{r} 9. \quad 44 \\ \times \quad 7 \\ \hline 308 \end{array}$$

$$\begin{array}{r} 10. \quad 32 \\ \times \quad 7 \\ \hline 224 \end{array}$$

$$\begin{array}{r} 11. \quad 62 \\ \times \quad 3 \\ \hline 186 \end{array}$$

$$\begin{array}{r} 12. \quad 66 \\ \times \quad 4 \\ \hline 264 \end{array}$$

$$\begin{array}{r} 13. \quad 82 \\ \times \quad 4 \\ \hline 328 \end{array}$$

$$\begin{array}{r} 14. \quad 87 \\ \times \quad 8 \\ \hline 696 \end{array}$$

$$\begin{array}{r} 15. \quad 94 \\ \times \quad 8 \\ \hline 752 \end{array}$$

$$\begin{array}{r} 16. \quad 53 \\ \times \quad 8 \\ \hline 424 \end{array}$$

$$\begin{array}{r} 17. \quad 85 \\ \times \quad 4 \\ \hline 340 \end{array}$$

$$\begin{array}{r} 18. \quad 75 \\ \times \quad 3 \\ \hline 225 \end{array}$$

$$\begin{array}{r} 19. \quad 68 \\ \times \quad 6 \\ \hline 408 \end{array}$$

$$\begin{array}{r} 20. \quad 78 \\ \times \quad 7 \\ \hline 546 \end{array}$$

Topic Mission: Day 1	The rainforest is not one place; there are rainforests in many countries of the world. Can you find the following countries and colour them in on the world map after the timetable? You can use the Internet or an atlas (if you are lucky enough to have one at home!)				
	Brazil	Democratic Republic of Congo		Indonesia	
	Peru	Colombia	Bolivia	Cameroon	
	Central African Republic	Ecuador	Gabon	Guyana	
	India	Malaysia	Mexico	Myanmar	
	Papa New Guinea	Republic of Congo	Suriname	Venezuela	

World Mercator Projection Map with Country Outlines

